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1.

2.

Other:

Check all that apply.

It is a leader election algorithm

It handles the failures of the backups in primary-backup replication

It handles the failures of the primary

It ensures all the replicas are sequentially consistent

3.

Check all that apply.

There can only be one primary (leader) at a time

There can be more than one primaries that order requests concurrently

If the primary is correct, the system won't fail as long as there are more than half correct
nodes
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What's your name?

What's true about Viewstamp replication? Select all that apply

What's true about primary backup replication?
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